= ik CEINHIE: EnETE
AR | ERBHIER B /(X 106T2K)| 7R 18 42/ ToK | i m (k= 1) |[iFAREIER=1)
KA 57.9 2 440 0.06 0.06
EE 108.2 6 050 0.82 0.86
HBER 149.6 6378 1.00 1.00
KA 227.9 3395 0.11 0.15
KAE 778.0 71 400 317.83 1321.33
+ A& 1472.0 60 000 95.16 763.59
A 2 870.0 25 400 14.54 63.08
T A 4 496.0 24 750 17.15 57.74
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ARR |PEER /(v /JEK3) | BEFAM | AR | 2R BEE/ A
KA 5.46 58.79°K 0.244F 0
&R 5.26 243.69K 0.624F 0
HiER 5.52 23055657 1.04F 1
K2 3.96 2417375 1.9% )
KE 1.33 QiS50 11.84 79
+ 2 0.70 108 1457 29 .54 62
TE 1.24 Mg 170F 1593 | 84.04F 29
T A 1.66 17154847 | 164.84F 14
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